F A 3x+2y+1=0, x+3y-2=09 W ZHH} A 3x-y+2=0
Aol o] AlE Tohe?

Vi VOV
o5 @F oy o

o=
jen}
e

(@31

B ~

3x+2y+1=0------ @)
X+3y-2=0------ ©
Q-Ox39M4 -Ty+7=0
Ly=1 x=-1

webA], W3O HE= (-1,1) ot
A(-1,1)A A 3x-y+2=0
Atole] A2l d=
g Bx(1)-1+72

32+ (-1)2




C:
D —

{1, 2, 3, 4, 6, 12}, DN C = {1, 2, 3, 4}

C=D-(DNC)=1{6, 12}




ojn

®x=7

@ x<7

@ x<7 @xZ?

@ x>7

Al
Bl

el
ol
SRS
I
pia

mw
ToH

H
min
oF
el




4.

ac <0, be>0 4 o, AR} ax + by + ¢ = 0 ©] HEHY
A 2] o= AFRA-E Fotol ),

LS
g

b#0 0|2
a C
y _l;x_EWC_D

ac <0, be>0°A ac-bc <0
Soabct <0 Z,ab<0

ab<0WH:4%ﬂ—g>o
M>0ﬂﬁy€%—g<o
et Qo A 2 AHREE AL gt




@ 2x—y—3:0

@2e-2-3=0

® 2x+2y+3=0

@ 2x-2y+3=0

@ 2x+2y-3=0

(2—2x41y2+3)— (@412 +2x—4y—3) =0
—4x+4y+6=0

T 2x—-2y-3=0




°

:[L

o

=2

%3x+y_1:001 Hrt, o] o, n 9] Fk

A
T

F 2

5]

Pl

g]

It
o

il
KO

B

Bl

Ife]

3x+y-5=0° x4l x-1,y tHAl y —n&

3x-1)+(y-n)-5=0

n=-7

-1..

122 —n-38

°

|

J

=03}

3x+y_n_8:0
@°] 3x+y-1




Ax2+y’+ax+by+c =023 x5 st
A

S0l (-1,-3) o]AL HIx]F2] do|7} 2 & 1,

e Totolet

> E:

> = 2

&

o
=S

2]
a

o5 A9

,b,c 9 %o

B

A x2+y*+ax+by+c=03xF°] Hsto
ti&lo] 5t dof FAgAL

2 +y*+ax-by+c=0

o wj, o] Y] F4lo] (-1,-3) °]2L
Yz 59 o7t 2 0]BR

X +y 4+ax—by+c=0

& (x+1)"+(y+3)" =4
©x2+y?+2x+6y+6=0
La=2,b=-6,c=6

uk2bA, 1L5k= a, b, ¢ 9] 7 T2
24 (-6)+6=2




8. AMBr-2+4=084 @ 1A HRoI5T =
Aol gx + by +18 =0 < ™, a+ b & 7S FoH?

ofl

94

® -3 @ -2 @_1 @ 0 G 1

B ,

A 3x-2y+4 =05 Fo|F AN of
3(6-x)-2(2-y)+4=0
-3x+2y+18=0

bk, g =-3,b=2

Ta+b=-1

oy
)
offt
ol
ol
i




W, A% a2+ b2 9] e

x+1 (a+b)x—a

x(x—=1) x(x—1)
gt a+b=1, a=-1
ca=-1, b=2

nat+ bt =(-1)2+22=5




L
__Oﬂ

..._“_..u
R0




